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B.A. DEGREE EXAMINATION, MAY 2015 
 

(BUSINESS ECONOMICS) 
 

(SECOND YEAR) 
 

(PART – III) 
 

250: BUSINESS STATISTICS 

(Ancillary) 
Time: Three hours                                    Maximum: 100 marks 

           SECTION – A  
                  Answer any EIGHT questions. 

 

 (8   5 = 40) 

 
1.  Draw a suitable diagram for the data given below: 

Marks: 0-35 35-50 50-60 60-100 
No. of Students: 14 15 16 24 

. 

2.  Write the general rules of preparing tables. 

3.  Find median for the following data: 6, 9, 21, 5, 7, –2, 0, 32, 9. 

4.  Find the value of range: 8, 10, 5, 9, 12, 11. 

5.  What re the two regression equations. 

6.  Discuss about “interpolation”. 

7.  Define Index Number. What are the formula involved different methods of index 

number. 

8.  From the following data construct an index number: 
Commodities: A B C D E 
Price in 1994 (Rs.): 50 40 80 110 20 
Price in 1995 (Rs.): 70 60 90 120 20 

. 

9.  Calculate seasonal indices for the following data: 

Year 
Quarter 

I II III IV 

1994 78 66 84 80 
1995 76 74 82 78 

1996 72 68 80 70 

1997 74 70 84 74 

1998 76 74 86 82 
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10.  Discuss about ‘Vital Statistics’.  

 
           SECTION – B  

                  Answer any THREE questions. 

 

 (3   20 = 60) 

 

11.  Marks obtained by 50 students in Accountancy are as follows: 
78 25 25 50 30 29 55 52 43 43 
44 20 48 44 43 58 36 46 48 47 
56 60 31 47 53 65 68 73 59 12 

34 74 79 20 16 70 65 39 60 45 
60 20 47 49 51 38 49 35 52 61 

Arrange the data in a frequency distribution table. 

12.  For the data given here. Give the quartile deviation: 
x: 351-500 501-650 651-800 801-950 951-1100 

f: 48 189 88 47 28 
. 

13.  Calculate co-efficient of skewness by Karl Pearson’s method: 
Profit (Rs. Lakhs): 10-20 20-30 30-40 40-50 50-60 
No. of Companies: 18 20 30 22 10 

. 

14.  Show that Fisher’s ideal index satisfies both time reversal and factor reversals 
tests using the data commonly: 

Commodity Price (1990) Qty. (1990) Price (1992) Qty. (1992) 

A 6 50 10 56 
B 2 100 2 120 
C 14 60 6 60 
D 10 30 12 24 
E 8 40 12 36 

 

15.  Explain with details about Seasonal, Cyclical and irregular fluctuation in time  
series. 

 
 

 

jkpHhf;fk; 

           gFjp - m 
                        vitnaDk; vl;L tpdhf;fSf;F tpilaspf;ft[k;.  

 

(8   5 = 40) 

  

1.  fPH;fhQk; ml;ltiziag; gad;gLj;jp bghUj;jkhd tpsf;f gl';fis 
jUf: 

kjpg;bgz;fs;: 0-35 35-50 50-60 60-100 

khzth;fspd; vz;zpf;if: 14 15 16 24 

. 
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2.  ml;ltizia jahhpj;jYf;fhd bghJthd tpjpfis vGJf. 

3.  ,ilepiy mst[ fhz;f: 6, 9, 21, 5, 7, –2, 0, 32, 9 

4.  gpd;tUtdtw;wpypUe;J tPr;rpd; kjpg;ig fhz;f: 8, 10, 5, 9, 12, 11. 

5.  cld; bjhlh;g[ nghf;F nfhLfs; vd;why; vd;d? 

6.  ,ilr; brUfy; gw;wp vGJf. 

7.  FwpaPl;L vz; vd;why; vd;d? gy;ntW Nj;jpuj;ijf; bfhz;l FwpaPl;L vz; 
gw;wp vGJf. 

8.  gpd;tUk; ml;ltiziag; gad;gLj;jp/ FwpaPl;L vz;iz fhz;f: 

bghUl;fs;: A B C D E 

tpiy (1994) %.: 50 40 80 110 20 

tpiy (1995) %.: 70 60 90 120 20 

. 

9.  gpd;tUk; ml;ltiziag; gad;gLj;jp gUtfhy khWghLfis fhz;f: 

Mz;L 
fhy; 

I II III IV 

1994 78 66 84 80 

1995 76 74 82 78 

1996 72 68 80 70 

1997 74 70 84 74 

1998 76 74 86 82 

. 

10.  Kf;fpa g[s;sptptu';fis gw;wp vGJf. 

 

           gFjp - M 
                        vitnaDk; _d;W tpdhf;fSf;F tpilaspf;ft[k;.  

 

(3   20 = 60) 

  

11.  fzf;F gjptpaypy;/ 50 khzth;fs; bgw;w kjpg;bgz;fs; gpd;tUkhW: 

78 25 25 50 30 29 55 52 43 43 
44 20 48 44 43 58 36 46 48 47 
56 60 31 47 53 65 68 73 59 12 

34 74 79 20 16 70 65 39 60 45 
60 20 47 49 51 38 49 35 52 61 

. 
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12.  gpd;tUk; kjpg;g[fisf; bfhz;L fhy;khid tpyf;fk; fhz;f: 

x: 351-500 501-650 651-800 801-950 951-1100 
f: 48 189 88 47 28 

. 

13.  fhh;y; ~gpah;!dpd; Kiwapy; nfhl;ljij kjpg;gpLf: 

,yhgk; (,yl;rj;jpy;): 10-20 20-30 30-40 40-50 50-60 

epWtd';fspd; vz;zpf;if: 18 20 30 22 10 

. 

14.  ~gp\hpd; rpwe;j FwpaPl;L vz;zpd; _yk; jiyfPH; nrhjidfis epWt[f: 

bghUl;fs; tpiy (1990) mst[ (1990) tpiy (1992) mst[ (1992) 
A 6 50 10 56 

B 2 100 2 120 
C 14 60 6 60 
D 10 30 12 24 
E 8 40 12 36 

. 

15.  fhyj; bjhlh; Ma;tpy;/ gUtfhy/ RHw;rp kw;Wk; XG';fw;w khWghLfis 
tpsf;Ff. 

%%%%%%%  
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